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Conceptual

6. The spring and weight will eventually stop oscillating due to air resistance
and damping within the spring.
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The angle, theta, of the crank pin (orange thingy) in radians is:
0 =t
So the x component of the crank pin is:

Acos® = Acos(wt)

which is harmonic.
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Remember omega is in radians per second so your calculator
needs to be in radians.

X = (O.30m)cos(%tj
x =(0.30m)cos(0) = 0.30m

X= (O.30m)cos(@) =(0.30m)co0s(0.20m ) = 0.24

x_=A=(0.30m)cos(0)=0.30m

Frequency is number of rotations per second. There are 2 times pi
radians in one rotation.
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Period is the number of seconds per rotation, which is the inverse of
frequency.
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